Kenneth Arrow  “Social Responsibility and Economic Efficiency” (you didn’t read)
The case against social responsibility: the assumption that the firms should aim simply to maximize their profits.

Descriptive (is) vs Prescriptive (ought)

I.  Claim 1: Firms will maximize their profits


Response: Profit is a key motive for business, but this does not mean that the profit motive can’t be restrained by ethical considerations…

II. Claim 2: Firms ought to maximize their profits (they have social obligation to do so)


Because “profit really represents the net contribution that the firm makes to the social good and the profits should therefore be made as large as possible.”


And anyway, natural constraints of the market will help keep companies in check.  I.E., if a company is known to be dishonest or terrible to their employees, then consumers will not buy from that company!
Limits to these arguments:

1. It assumes that forces of competition are sufficiently vigorous—but they aren’t.
2. Distribution of income that results from unrestrained profit maximization is very unequal.

3. Maximizing profits is socially inefficient when costs are not paid for (externalized)


a. ie, time vs pollution


b. ie, traffic congestions

4. Maximizing profits is socially inefficient when seller has great knowledge advantage over buyer

Because of these potential problems with unrestrained profit maximization, it is important for the social responsibility of firms to be institutionalized which is done in various ways:

1. Legal Regulation

2. Taxes

3. Legal Liability

4. Ethical Codes

